KENDRIYA VIDYALAYA SANGATHAN
PATNA REGION
SUMMATIVE ASSESMENT -2
CLASS-IX
SCIENCE
Time-3 hours M.M=90

General instructions:
(1) The question paper comprise of two sections, A & B. You are to attempt both the sections.
(i) All questions are compulsory.
(iii)  All questions of section A and section B are to be attempted separately.
(iv) Question number 1-3 in section A are of one marks. These are to be answered in one word
or in one sentence.
(V) Question number 4-6 in section A are two marks. These are to be answered in about thirty

words each.

(vi) Question number 7-18 in section A are of three marks. These are to be answered in about
fifty words.

(vii)  Question number 19-24 in section A are of five marks. Question number 23-24 consist
OTBA.

(viii)  Question number 25-33 in section B are multiple choice questions based on practical skills.
Each question is of one mark. You are to select one appropriate response out of the four
provided.

(ix) Question number 34-36 are of two marks each and are based on practical skill.
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SECTION- A

Why bryophytes are called the amphibian of plant kingdom?
ARATHBISSH Bl UTed AT BT SHIAR R HEl STl &
2. Name the force which acts on an object immersed in a fluid.

3 T T ATH AT, ST Tl ae] ol el Tery & ST ST & |
3. Calculate the Number of electrons in Ca®*ion? (Atomic no of ca=20)

Ca’" ion & gaiereieT foh EEar aaTy (WA <= Ca=20)

4. “Pisces are adapted to survive in aquatic environment” state four characteristic

features of class pieces in support of your answer.
TSl U H I8 & folg gdfeld &' | AdW @ & aR AWeesl &I foraax rae Hdar

DI gfte o |
5. What is power ? Write its S.I unit .
UTFT T § 2 SHHT S.| ATTH ol
6. what is atomicity? Calculate the atomicity of Na,SO,?
RATOGRAT 4T 82 Na,S0, Toh TRATTOahdT IT0TT hL?
7. Differentiate between acute and chronic disease. Which one of them is more

harmful and why?
TRIE R Bifs RAT # iR W Y| 39 AT § i A1 f[T9R) 31fdd eaRs®

3R I |

8. Enlist the basic conditions necessary for good health
3T R & oIy 3L IMIRYT HRDI DI FAIGH N |

9. What do you mean by immunization? Why is it important to immunize
children? State the immunization programs available at the health centre in

your area.
TfARETOT W MY T FHSI &° gl BT Ui e aj 3MaeTdh 27 UfReToT HhrRIGH Sl

A &5 & WY $rs W U g, a1 |
10. Identify the kingdoms on the basis of the following features.
a. Multicellular eukaryotic autotrophic organisms
b. Heterotrophic eukaryotic organisms

c. Unicellular eukaryotic organism
FRfTRET SIMervll & SMYR R ATHAT Bl ggam
31, SEPRINY FYHRANCH JHIMT Siig

9. fAyAdl SyeRANeHd Sia

% THH R STHRANCE Sig
11 What is SONAR? Write two uses of SONAR.

IR T &2 SHT &l 3TN SdT3iT |
12 State Archimedis principle. Write two application of this principle .
HATSH o1 f{end ford gaeT ar 3 forg)
13(a)Define kinetic energy.
(b)A stone of mass 2 kg is falling from rest from top of a steep hill.
What will be its K.E after 5 sec? (g=10 m/s)
()3TTreR 3T T IRSTAT S |
()T TR ToTTehr ATF R fohatane § St [EeR 3raear & s
ST ugral & Al § fIRT | 35 aifds 39T 3 Tehs a1g a1 g1 2
14 Write three use of ultrasound.
3TCCTAT3S & dlel 3YITIT o]

=
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15 (a) Establish relation among velocity of sound wave, wavelength and
Frequency i.e. =na
(b) What is the Frequency of wave whose time-period is 0.025 sec?
(h) a1 o 1T et SEar Tar 3nfas & geae Tanfia #Y |

(W) TRET AT T AT FIT § ToTEFIT Teh Tt T TATAT 0.025 sec g

16 The volume of a 500 gram sealed packet is 350cm cube. Will the packet float
or sink in water if density of water is 1 gm/cm cube? What will be the mass of
water displaced by this packet?

Teh oo ITH T G e &1 T 390 99 awigd & FAT IS TTell H & ST AT 3T

319 YT T Helcd | cdseas agH ET‘?ET‘o’ffa\aIII faeenfire T ST HTHT FIT §I91T?

17 (a) write down two drawbacks of Rutherford model of atom?
(b)An atom of an element has 7 electrons in its L shell
(Dwhat is its atomic no.?

(2) TeITS o RATOTH feHid & & Jeul FT oo HI?
(b) fordl Ted & TRATIT & L shell # 7 gelerell §

(1) 3T YIATI] HEIT T 87
18 composition of the nuclei of two atomic species x and y are given as under
X Y
Protons 6 6
Neutrons 6 8

Give the mass number of x and y. what is the relation between two species?
&l IATTOG Tard X Ud'Y & shgeh o1 T (o191 TehR T 91T 7

X Y
Protons 6 6
Neutrons 6 8

X TG Y &l AFAThATSR ol JAT X TF Y A 7 Y &7

19 What is AIDS? Write its causative agent. How does AIDS spread? Suggest
four preventive measures to control spreading of this disease
TSH RIT 57 Bl dlel HRP BT M fold | T8d A Bl o7 59 AR o1 R
Bor ¥ R B & oy AR g < |
20 (a) State the principle of conservation of energy.
(b)What are various energy transformation that occurs when you are riding
bicycle?
(c)Show that total energy of freely falling body remains same .
() 3AT T&TT 1 TeHid ford 1
(@) 3511 aRaclet & Tafdest & &l ddTd STel T ATTehel Teld &1 1
(3) e 3 Faraicl &9 & R g et ameq ot 35T e gl & 1
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21 Two boys Raghav and Ramesh make a toy telephone by joining two
Plastic cups through a long string .They both stand apart .Raghav speaks
Softly into 1 cup and Ramesh hears by putting his ear in the other cup .
Now Ramesh speaks and raghav listens .

(@) What type of waves produced by voice of Raghav and Ramesh in
the air inside the plastic cup .

(b) What type of waves are produced in the string ?

(©) Give two difference between these type of waves .

(d) What are the qualities of both the friends .
ar fos Trera 31 TR Teh T&ollel GLeATY Ueh €91 & Si1T [d Gleit 376791 T g1 a1 Rrerd
ER A Ueh Y H Sleldl & IRIAA GAX T A Folcll g 3T A sl & 3R 7era fa
gAaE 1
(@) R YHR T AT gaT H 3HT 1At & dAdT & |
(T H 5T JhR FT T Selar g
(AN3eT GlAT TN H GF IR TATHT |
(enaat fat 3 fore g 1 Ry aor B 1
22 (a) Calculate number of moles and molecules in 120 gram of CH;COOH
(C=12,H=1,0=16) 5
(b) Write down the chemical formula of
(1)Calcium phosphate
(2) Aluminium sulphate
(3) sodium carbonate
(a)TEfeeh 31Fel & 120 gram H $Heh Al Td - AT Toh HEIT 0T 2
(b)fee=1 = e g forw
(1)FATETH BIREHT
(2) 3TITATATH Hethe
(3)\T3TH FEfc

OTBA

23 A. Why Rajendra Singh is known as “The Water Man of India”? Give
examples of mitigation action & plasticized in Alwar in Rajasthan.
o Rig “The Water Man of India” & 9™ & STHT SIIaT € 1?7 U SQTER0
RraH ORI @ 3TldR H U & FHRT B) THRAT DI BH B BT WA et
T |

B.How can you say that human events is responsible for causing drought.
@S & ot 999 & (BT Herd IcRardl & | fad=qr o |

24 Explain the components of drought planning process . Suggest your opinion to
overcome the drought.
IR AT HRIMAR & BRD! DI ARAT (BT | T R B & [T HY IUN
9y |
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Section B
25 Earthworm has an un-segmented band called:
a. Metathorax
b. Thorax
C. Clitellum
d. Cephalothorax
HYY H U ATl JREfUed Ul Bl FHEd g
31, HERING

Q.26 Breeding site of mosquito is:
a. Standing water
b River
C. Leaves
d Flowers

CHR |
27 A cockroach has
a.  Three pairs of wings and two pairs of legs
b.  Three pairs of wings and three pairs of legs
c.  Does not have wings and three pairs of legs
d.  Two pairs of wings and three pairs of legs
fretareer 7 4w oma 8-
3. dF S U @R &1 Sils R B T
9. 49 SiIs U9 iR 9 Sirs R 8 7|
. U9 e 8§ IR O Sie R B 2
T 3l Sile U9 SR O SIs R BId 3|
28 Which of the following produces seeds without fruit?

a. Cycus b. Rice c. Fern d. Grapes
fraforRaa § @19 |1 dien 19 BT ITed BRAT © fdhw] Bl Bl 8l
3. AEHA q. g AR T AR

Q.29. The distance between the two consecutive compression or rarefaction in
wave is given by-

a. 2\ b.% c.% d. A
&Y TR wee vd Rver @ d1a a1 @ [ohdY aaT & T g1aTT -
a. 2\ b.% c.% d.A

Q.30. The physical quantity that will remain unchanged after reflection of bond
wave is —

(a)Velocity (b)Wavelength (c)Frequency (d)AII of these
shieT AT iR 6T ITRTISRIAT Teell § Uafel AT & Ralclol & aIe;
(a)Velocity (b)Wavelength (c)Frequency (d)AIll of these
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Q.31 The weight of a body felt in tape water and salty water are WA and WB
respectively, then

(a) WA= WB (b) WA > WB (C)WA<WB  (d) WA=2 WB
TR & 8 T R &Tel & el IR TRT Tell A 378 & HIT T |
(a) WA= WB (b) WA > WB (C)WA<WB  (d) WA=2 WB

Q.32 Study the chemical reaction given and Identify the value of
X (mass of co, in gram)
CH4(g) +20,(9) _ , CO,(9)*+2H.0
16 64 X 36
(2)28gm (b) 32gm (c)44gm (d)40gm
e a1 TaTafereR IfafonaT &1 3reTdel S Td X &I AT I,
CH4(?\QT)+202(?\QT) COg(g)+2H20
16 64 X—36>
(3n)28ATH () 32aqTH  (A)44IATH  (G)40TTH
Q.33 In an experiment to verify the law of conservation of mass in a chemical
reaction ,weighing the flask with its content is done carefully :
(@) Only before the experiment (b)Only after the experiment
(c) Both Before and after the experiment (d) Weighing is not essential
foraY TaieT H gezde EX00T & faETed S et & folv T@rafae afAfshrar & faamt &

3Heh 3HTHHHD & AT HIETAATIh ATIT STl &7
(a)harel TeT § Tgor (b) Shael TN & dIE,
(C)arAT TATT & Yget TaH &1, (d) ATT haAT aETh oTgl &
Q.34 Name the group to which dryopteris belongs, write its identifying feature
SAUCRE fha ot & o B, M fore | 9@ a1 ofefon &l ford |
Q.35 what is echo? What is the minimum distance to hear echo?
SR T & 759 FeAol T AAdH gl HATE |
Q.36 To verify the law of conservation of mass in a chemical reaction a student
takes a known amount of solution of BaCl, in a small test tube which is hanged
in a sealed conical flask containing Na,SO, solution. The flask is slightly tilted
so that the two solution get mixed with each other and a chemical reaction
occurs. What is the relation between the masses of chemical involved.
Erafee gfafehar 3 geaarsT GYaTor & fAcuid &I Sira T o & o Ueh o1 A Tk
RGeAell A AT HATAT ST BaCl, 3T °el oleht 38 Uah ¢ conical flask TSTEA Nayso, T 8l
& 383 &I, conical flask ST ART AT Eerram arm forerd alet ©lfel 3m9ad # el aram, 56

Targfaes gfafshdr & Gt aYel & gl A T Toa ¢ |
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